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KS2 Arithmetic 

8947 
X  89 

 
 
 
 
 
 
 

7869 
X  76 

 

8976 + 9479 
       
                    

9312 - 2987 

 

4995 ÷ 9 
 

3976 ÷ 8 
 

9583 ÷ 7 
 
 
 
 
 
 
 
 

94.71 + 74.922 
 

86.9 – 39.54 
 

0 x 72 = 

81 x 1= 

 39 +       = 87 

    38 -       = 29 

- 38 = 25 

82 + 72 = 

       72 - 52 = 

7688=7000+          + 88 

 

MDCCIX= 
 

3102= 
 

78.9-12.5+38.5= 
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46% of 780= 8.59x100=   
891 ÷ 100=   
31.5 x10  =   
3.12 ÷ 10 =   
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15 ÷ 5 + 7 = 

21 ÷ 3 – 2 x 3= 

0.7   69 = 

0.19 x 38= 

-9-11= 
-12-12= 
-9+9= 
-12-18= 
-21+27= 
-9-15= 

9 x -7= 
-6 x  -12= 
-7 x -7= 

-36 ÷ -4 = 

-20 ÷ 2= 

81 ÷ -9= 
 

4992 ÷ 26= 

 

 

 

    

    

    


